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1. (A)      ?      . 14 

                                     

  “     ”  . 

 (B) -    : ( ) 4 

  (1)     . 

  (2) -  . 

  (3)     ? 

  (4)     .   

  (5)      ? 

 

2. (A)     . 14 

                                        

      . 

 (B) -    : ( ) 4 

  (1)       ? 

  (2)        ? 

  (3) -  . 

  (4)    . 

  (5)      ? 
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3. (A) -    ? -  . 14 

                                  
           . 

 (B) -    : ( ) 3 

  (1) NRM   .  
  (2) AKRSP     ? 

  (3) DSC     ? 

  (4)     . 
  (5)      ? 

 

4. (A) “  WTO”  . 14 

               
     . 

 (B) -    : ( ) 3 

  (1)      ? 

  (2) “ ”  . 
  (3)     ? 

  (4)    . 
  (5)     ? 

____________  
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1. (A) What do you mean by Natural Resources ? Explain in detail their role in 

economic development. 14 

                                    OR 

  “Common property resources and market failure”. Explain in detail. 

 (B) Answer in 2-3 lines : (any four) 4 

  (1) What is meant by Renewable Resources ? 

  (2) Give the meaning of non-excludability. 

  (3) What is moral hazard ? 

  (4) Briefly explain the concept of adverse selection. 

  (5) What do you mean by soil erosion ? 

 

2. (A) Explain in detail hedonic pricing method. 14 

                                            OR 

  Discuss travel cost method in detail. 

 (B) Answer in 2-3 lines : (any four) 4 

  (1) What do you mean by contingent valuation method ? 

  (2) What are the issues in contingent valuation method ? 

  (3) What is meant by consumption value ? 

  (4) Give the meaning of option value. 

  (5) What is meant by bequest value ? 
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3. (A) What is meant by bio-diversity ? Point out the importance of bio-diversity. 14 

                                   OR 

  Briefly explain the concept of social forestry. Explain in detail its types. 

 (B) Answer in 2-3 lines : (any three) 3 

  (1) Give the meaning of NRM. 

  (2) What are the objectives of AKRSP ? 

  (3) What are the objectives of DSC ? 

  (4) Give the meaning Joint Forest Management. 

  (5) What is Participatory Irrigation Management (PIM) ? 

 

4. (A) “Environment and WTO”. Discuss in detail. 14 

                      OR 

  Explain in detail Montreal Protocol. 

 (B) Answer in 2-3 lines : (any three) 3 

  (1) What do you mean by global warming ? 

  (2) Give the meaning of climate change. 

  (3) What is the meaning of carbon sink ? 

  (4) Give the meaning of poaching. 

  (5) What do you mean by wetland ? 

____________ 
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1. (A)           ?    
     . 14 

                         
   (a)      . 
  (b)        . 

 (B)         ( )  4 

  (1)            
     ? 

   (a)  (b)  

   (c)  (d)   

  (2)               
  ? 

   (a)  (b)  

   (c)        (d)   

  (3)              
   ?      

   (a)    (b)   

   (c)     (d)    

  (4)           ,   
       ? 

   (a)  (b)  

   (c)  (d)  
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  (5)             ? 

   (a)   (b)    

   (c)   (d)  (b)  (c)  

  (6)         ? 

   (a)   (b)   
   (c)   (d)    

 
2. (A)           

  .  14 

                
  (a)     . 
  (b)    .  

 (B)        : (  ) 4 

  (1)            
  ? 

   (a)           . 
   (b)           . 
   (c)    . 
   (d)    

  (2)   ,        .  
   (a)     (b)     
   (c)     (d)      

  (3)           
    ? 

   (a)   (b)  

   (c)  (d)   

  (4)         ? 

   (a)  (b)   

   (c)    (d)  

  (5)                  
    ? 

   (a)  -  (b)   –   

   (c)                    (d) -   
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3. (A)     : 14 

  (a)            

      .  

  (b)       . 

  (c)  . 

                                        

      ? .         ?  

 (B)        : (  )  3 

  (1)         ? 

   (a)   

   (b)   

   (c)   

   (d)   

  (2)    =    + _________. 

   (a)     (b)    

   (c)    (d)    

  (3)    =   – _________.  

   (a) TFC  (b) TVC     

   (c) AFC  (d) AVC 

  (4)   ________       . 

   (a)    (b)  

   (c)  (d)   

  (5)             ?   

   (a)   (b)   

   (c)   (d)   
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4. (A)       14 

  (a)           . 

  (b)         .   . 

 

 

Firm B 

    

Firm A  (5,4) (6,2) 

    (3,6) (7,2) 

  (c)            

. 

  (d)      . 

 (B)        : (  ) 3 

  (1)           ? 

   (a)    (b)  

   (c)   (d)    

  (2)      .  

   (a)    .  

   (b)     .  

   (c)      .  

   (d)     .  

  (3)               

 ? 

   (a)    (b)     

   (c)    (d)  (a)  (c) 

  (4)     ________  .  

   (a)    (b)    

   (c)    (d)   

____________  
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1. (A) What type of risks are to be faced by a businessman ? In the context of risk in 
business explain the concepts of objective and subjective probability.  14 

                        OR 
   (a) Explain the reasons for risk in business. 
  (b) Explain the steps involved in the analysis of risky decisions. 

 (B) Select the correct answer for following questions : (any four)  4 
  (1) The outcomes associated with combinations of each strategy and state of 

nature is shown by 
   (a) Matrix  (b) Determinants       
   (c) Table                   (d) Pay-off matrix 

  (2) A situation where no information is available about the outcome of the 
business decision is known as 

   (a) Certainty  (b) Risk                    
   (c) Uncertainty          (d) All of the above 

  (3) In a business decision, the conditions that an entrepreneur has to accept is 
called  

   (a) Controlled conditions  (b) Unacceptable condition  
   (c) State of nature  (d) None of the above 

  (4) If two investment project have different expected profit, what can be used to 
decide the selection of the project ? 

   (a) Coefficient of correlation (b) Coefficient of variation  
   (c) Mean  (d) Probability 

  (5) What can be used for calculating risk in a new social project ? 
   (a) Probability  (b) Expected monetary return  
   (c) Standard deviation (d) Both (b) and (c) above 
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  (6) What kind of thing does the public sector produce ? 
   (a) Private goods  (b) Public goods  
   (c) Mixed goods  (d) All 
 
2. (A) State the factors affecting location and explain the location theory of industry 

given by Sargent Florence.  14 

                          OR 
  (a) Write a note on cost benefit analysis. 
  (b) Ramsey pricing methods.  

 (B) Select the correct answer for following questions : (any four) 4 
  (1) One of the characteristics of the goods and services provided by public 

sector is that 
   (a) Their price is zero or less than average cost 
   (b) Their price is zero or greater than average cost 
   (c) Their price is negative 
   (d) None of the above 

  (2) According to Weber, two most important costs for deciding location of an 
industry are  

   (a) Capital and labour costs 
   (b) Transportation and labour costs  
   (c) Labour and land costs 
   (d) Raw-material and capital costs 

  (3) In order to get the least transport cost location, which economist has given 
location triangle ? 

   (a) Keynes  (b) Mead 
   (c) Weber  (d) Sargent Florence 

  (4) Which economist has given inductive analysis for the problem of choice of 
location ? 

   (a) Marx  (b) Adam Smith 
   (c) Sargent Florence  (d) Rostow 

  (5) For a firm producing multiproducts where the common cost is very high, 
which is the best price system 

   (a) Average cost pricing method  
   (b) Marginal cost pricing method  
   (c) Ramsey pricing method                             
   (d) Total cost pricing method 



AA-164 11 P.T.O. 

3. (A) Write any two : 14 

  (a) Explain with the help of diagram, the distribution of burden of excise tax 

between consumer and seller on the basis of price elasticity of demand and 

supply.  

  (b) Explain the effect of property tax on immovable property. 

  (c) Explain Profit tax. 

                                       OR 

  What is break-even analysis ? Explain, how production can be planned with it. 

 (B) Select the correct answer for following questions : (write any three)  3 

  (1) Which tax encourages efficient allocation of resources ? 

   (a) Excise tax  

   (b) Expenditure tax     

   (c) Wealth tax  

   (d) All of the above 

  (2) Marginal Social Cost = Marginal Private Cost + _________. 

   (a) Marginal External Cost 

    (b) Marginal Factor Cost   

   (c) Total Average Cost  

   (d) Total Variable Cost 

  (3) Total contribution margin = TR – _________.  

   (a) TFC  (b) TVC     

   (c) AFC  (d) AVC 

  (4) Break-even point shifts to right due to ________ cost of the firm.  

   (a) increase in  (b) constant       

   (c) zero  (d) decrease in 

  (5) Which type of tax helps local government to get relatively more income ?   

   (a) Income tax  

   (b) Expenditure tax     

   (c) Wealth tax   

   (d) All of the above 
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4. (A) Write any two  14 

  (a) In the context of game theory explain concept of cooperative and non 

cooperative game. 

  (b) Following is the pay-off matrix for two firms. Find out Nash equilibrium. 

 

 

Firm B 

Advertise Don’t Advertise 

Firm A Advertise (5,4) (6,2) 

 Don’t 

Advertise 

(3,6) (7,2) 

  (c) Explain the concept of linear programming and also explain the concepts of 

constraints and objective function. 

  (d) Discuss the usefulness of linear programming. 

 (B) Select the correct answer for following questions : (write any three) 3 

  (1) In which market the principles of game theory can be applied ? 

   (a) Perfectly competitive market 

   (b) Monopoly 

   (c) Oligopoly 

   (d) Monopolistic competition 

  (2) The main assumption of linear programming method is 

   (a) Variables are constant. 

   (b) There is linear relationship between variables. 

   (c) There is non-linear relationship between variables. 

   (d) There is no relationship between variables. 

  (3) Which of the following methods is used for solution of a linear 

programming problem ? 

   (a) Graphical method  

   (b) Regression method 

   (c) Simplex method  

   (d) Both (a) and (c) 

  (4) In the theory of game, the optimum solution is called ________  

   (a) Best solution  (b) Saddle point  

   (c) Maximum Solution (d) None of this 

____________ 


